FISEEHIR Y = =T A% —RFHERD
FHTEEH IR T — B TR

INFL - 2RI BA KlAlis
N FR
vall— T =N T—H
iz =g a—24
F5k NiE BT W N—
M EE R B = A 2K — i 620m
T 4= a s 420m
P 2 200m
a—2RE PR A 2R 640m
— F3RH AN i} B RKEHE 42%
T4 =y a5 INBIE = B/ NEHE 13%
SESIRLEE 28%
1 AH 2 A H
a—RAt v H— =g a—Rk v H— =g
ISR - A - &AL FrPe ISR - A - &AL FrPe
ISR - B - HE KA ISR - B - HE KA
ISR - C - IR R ISR - C - IR R
iR - D - AR = ISR - D - WA =
TR 31(31) 2 A — R 10:00 TR OPEN 2 — IR
KA H i =8 KA =8
AF—bF/T 4=y a R AB—bF/T 4=y v a R
F=980
NERE Ap=b =N EEHEE 1AKH 2AKH H F L—2A
No No K4 Fr B 4 S 157 = 157 N | = 155 D N GV N
111 Bm pkes JBs L Jr 2:03.62 1:46.70 3:50.32 0.00
2 12 KA INEE Wil Jr 2:13.74 1:57.90 4:11.64 90.72
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0

BaE =W Fik

25-01-11 / fEHFR A X —4; G8/ 1

DATA PROCESSING by SE I KO TIMING by SETKO



FISEEHIR Y = =T A% —RFHERD
FHTEEH IR T — B TR

INF3 - 4B BA KAz
N FR
Tal— T =NV —Z
iz =g a—24
F5k NiE BT W N—
M EE R B = A Y 620m
T 4= a s 420m
P 2 200m
a—2RE PR A 2R 640m
— F3RH AN i} B RKEHE 42%
T4 =y a5 INBIE = B/ NEHE 13%
SESIRLEE 28%
1A4H 2 K H
a—RAt v H— =g a—Rk v H— =g
ISR - A - FEA BalPq ISR - A - FEA BalPq
ISR - B - HE KA ISR - B - HE KA
ISR - C - IR R ISR - C - IR R
iR - D - AR = ISR - D - WA =
TR 31(31) 2 A — R 10:00 TR OPEN 2 — IR
KA H i =8 KA =8
AF—bF/T 4=y a R AB—bF/T 4=y v a R
F=980
NERE Ap=b =N EEHEE 1AKH 2AKH H F L—2A
No No K4 Fr B 4 S 157 = 157 N | = 155 D N GV N
1 14 Y HEAE JBs L Jr 1:13.63 1:11.60 2:25.23 0.00
13 N AR &L T 1:21.91 1:19.43 2:41.34 108.71
3 15 *(ﬂ%ﬁ 15 Bl Jr 1:23.44 1:22.84 2:46.28 142.04
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
R =08 FEi
25-01-11 / fEHFR A X —4; G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO
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iz =g a—24
F5k NiE BT Wi N—
M EE R B = A Y 620m
T4 = Hi R 420m
P 2 200m
a—2RE PR A 2R 640m
— F3RH AN i} B RKEHE 42%
T4 =y a5 INBIE = B/ NEHE 13%
SESIRLEE 28%
14AH 2 K H
aA— ATy H— =g aA— ATy H— =g
ISR - A - FEA BalPq ISR - A - FEA BalPq
ISR - B - HE KA ISR - B - HE KA
ISR - C - IR R ISR - C - IR R
iR - D - A %2 ISR - D - A =
TR 31(31) 2 A — R 10:00 TR OPEN 2 — IR
KA H i =8 KA =8
AF—bF/T 4=y a R AB—bF/T 4=y v a R
F=980
NEAT Ag=b =N EEHEE 1R 2A&AH & 7 1V—x
No No K4 Fr B 4 S 157 = 157 N | = 155 D N GV N
1 18 Il Bt R Jr 1:19.00 1:13.43 2:32.43 0.00
2 17 ok FHify JBs L Jr 1:21.20 1:13.40 2:34.60 13.95
3 19 K Fats I T 1:24.95 1:20.62 2:45.57 84.48
4 16 Ei s JBs L Jr 1:49.67 1:42.03 3:31.70 381.06
DID NOT START [1st RUN]
DID NOT FINISH [1st RUN]
DISQUALIFIED [1st RUN]
DID NOT START [2nd RUN]
DID NOT FINISH [2nd RUN]
25-01-11 / fEHFR A X —4; G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO
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FHTEEH IR T — B TR

INFES - BT

NEAT Ag= =N EEHEE 14AH
No No K4 B 4 e
DISQUALIFIED [2nd RUN] 0

BaE =W Fik

F=980
2KH & F L—=A
BE R B R AA b
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FISEEHIR Y = =T A% —RFHERD
FHTEEH IR T — B TR

INFS - 6B BA KAz
Tal— T =NV —Z
iz =g a—24
F5k NiE BT Wi N—
M EE R B = A Y 620m
T4 = Hi R 420m
P 2 200m
a—2RE PR A 2R 640m
— F3RH AN i} B RKEHE 42%
T4 =y a5 INBIE = B/ NEHE 13%
SESIRLEE 28%
14AH 2 K H
aA— ATy H— =g aA— ATy H— =g
ISR - A - FEA BalPq ISR - A - FEA BalPq
ISR - B - HE KA ISR - B - HE KA
ISR - C - IR R ISR - C - IR R
iR - D - A %2 ISR - D - A =
TR 31(31) 2 A — R 10:00 TR OPEN 2 — IR
KA H i =8 KA =8
AF—bF/T 4=y a R AB—bF/T 4=y v a R
F=980
NEAT Ag=b =N EEHEE 1R 2A&AH & 7 1V—x
No No K4 B 4 Be R OBE R B R AA2b
1 22 NOjE B DAED]Ir 1:10.91 1:08.69 2:19.60 0.00
2 21 e A HE—BA VaY=1-liNps 1:15.07 1:11.63 2:26.70 49.84
320 A FERA JBs L Jr 1:17.65 1:11.69 2:29.34 68.38
4 23 HFMH EA JBs L Jr 1:24.47 1:19.87 2:44.34 173.68
DID NOT START [1st RUN]
24 R 7o 1L Jr
DID NOT FINISH [1st RUN]
DISQUALIFIED [1st RUN]
DID NOT START [2nd RUN]
DID NOT FINISH [2nd RUN]
25-01-11 / fEHFR A X —4; G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



3B HIR Y 2 =7 A X —/PFHERD
FHTEEH IR T — B TR

INFES - 6T

NEAT Ag= =N EEHEE 14AH
No No K4 B 4 e
DISQUALIFIED [2nd RUN] 0

BaE =W Fik

F=980
2KH & F L—=A
BE R B R AA b
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FISEEHIR Y = =T A% —RFHERD
FHTEEH IR T — B TR

ARy e RE KA
N FR
D — T EANT—H
iz =g a—24
F5k NiE BT Wi N—
M EE R B = A 2K — i 620m
T 4= a s 420m
P 2 200m
a—2RE PR A 2R 640m
— F3RH AN i} B RKEHE 42%
EEENEY il TR B s/ VRHE 13%
SESIRLEE 28%
1A4H 2 K H
aA— ATy H— =g a—Rk v H— =g
ISR - A - FEA BalPq ISR - A - FEA BalPq
ISR - B - HE KA ISR - B - HE KA
ISR - C - IR R ISR - C - IR R
iR - D - AR = ISR - D - A =
TR 31(31) 2 A — R 10:00 TR OPEN 2 — IR
KA H i =8 KA =8
AF—bF/T 4=y a R AB—bF/T 4=y v a R
F=980
NERE Ap=b =N EEHEE 1AKH 2AKH H F L—2A
No No K4 Fr B 4 S 157 = 157 N | = 155 D N GV N
1 27 JFIL BA B B 1:04.93 1:04.04 2:08.97 0.00
25 (LR ST i T 2 1:17.38 1:15.92 2:33.30 184.88
3 26 Sk BH Bk H 1:20.06 1:19.68 2:39.74 233.81
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
R =08 FEi
25-01-11 / fEHFR A X —4; G8/ 1

DATA PROCESSING by SE I KO TIMING by SETKO



FISEEHIR Y = =T A% —RFHERD
FHTEEH IR T — B TR

Hh 5 5 - A NEIL TR
N FR
D — T EANT—H
iz =g a—24
F5k NiE BT W N—
M EE R B = A 2K — i 620m
T 4= a s 420m
P 2 200m
a—2RE PR A 2R 640m
— F3RH AN i} B RKEHE 42%
T4 =2 INBIE = B/ NEHE 13%
SESIRLEE 28%
1A4H 2 K H
a—RAt v H— =g a—Rk v H— =g
ISR - A - FEA BalPq ISR - A - FEA BalPq
ISR - B - HE KA ISR - B - HE KA
ISR - C - IR R ISR - C - IR R
iR - D - AR = ISR - D - WA =
TP % 31(31) 2K — IR 10:00 TR OPEN 2 K — R
KA H i =8 KA =8
AF—bF/T 4=y a R AB—bF/T 4=y v a R
F=980
NERE Ap=b =N EEHEE 1R 2A&AH & 7 1V—x
No No K4 Fr B 4 S 157 = 157 N | = 155 D N GV N
1 29 TN 1% H B Bl 1:02.62 1:02.14 2:04.76 0.00
2 31 wI fﬁ& JBs L Jr 1:07.69 1:04.85 2:12.54 61.11
3 28 WH A4 JBs L Jr 1:09.53 1:07.48 2:17.01 96.22
4 30 T B2 JBs L Jr 1:09.25 1:08.58 2:17.83 102.67
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
25-01-11 / fEHFR A X —4; G8/ 1

DATA PROCESSING by SE I KO TIMING by SETKO
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DISQUALIFIED [2nd RUN] 0
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F=980
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